HONB¥ 133

b8yt

— EEE (BE4D H16D)

R (- 2)7 BT —(BRIA ©

8 8 27 27 _
== @ -7 (Ol ) BEE
. ENEEx v a ROVIPABZARE x <a By <b - NI RABAENPERE L EBIEREL ?

Mx+y<a+b (Hx—y<a-b (M)xy<ab (IV)§<% (V) 2% <
Mo @1 32 @3 (54
CRx vy zRBE B x x (—0.345) = y x (—0.345) =z x (—0.345) > Blx  y s BIRIMEKFE R
Mx<y<z @z<y<x @)y<z<x @x<z<y G)y<x<z
. 202210133 #7 9 BREVEREAR NI —ERIE ¢
(H1 (2)2 (3)4 (4)5 (5)8

— ZEE (BE71H 52 D)
)1 FREBGNAEAEEN?
WY @) 30+vE  @V0E (503

(

2.

)2. Ba b cRIFEEBE - ME lal+|bl+]|c|>la+b+c|> Ha>b>c BITIEIRQELRE?
(1yab >0 () be < 0 (3)ca <0 @la+c|<lal+lc] (5 abc<0

)3 RaREBE & 10% = b - AINIRIBBIEH ?
(I)loga = b (2)%a=§’E\U5<b<6 ()& a=m- 8l b>1000
4 B b RHBIEY - Al WABIEH (5) B b REIRE - Bl « WAEIRE

—EA=ARNMIRRESBIA V5 +1:V8+4V5 AIENBRR




PONEEDE]  SOFRiREE

RE—NBLEIFER o * BEZRBLERER b - BERETRET 6 X 6 = 36 1&15

DUSEABASEBE—EEE @ CRERE BISK - 28 3743 A2 §—BX %B[‘ﬁﬁ 8 e,
AR R RS ERE R B IE0IERE - H120 [49 B | RTMEZHER HE 8 - [367 Sl | kR
B TEIEREE 367 AR - BNO\TRETKR LT 10 B9 RIBIE EHERR ‘ﬁ‘z& ,,.LL’WHHQW*
RN A —IREIR - EANEZUESE 115 ARHB%SHEE T - HQELAH% 7 NBRIEZE L - BIRA
DT FEHI7E NI — BB — e T & ©

211 B4 | 220463} | 230 7EIE | 240 3}Fg | 250 AMk | 264 85 | 270 K E | 288 $7&& | 303 iR g | 311 &F

B ADNEIZEN 66 RIMBIR/E 1.ab 1§ (HPa R IR 0~ BT » FE : ab RE—BEMBF © I
JF a B2 b BO5RAR ) » MIRITRRBIR/\BRBVTTSR © 3R:1% 66 'LL 1. ab @ BRIV SHILIERETD T 05
AR (I ab 5B

BIFR EEAMER R KRGS ERENLESE - MEAXEURKERMABRENEESE - REPRERB
R RFRNEER r UERENEER £ (F18) © Rl B EQBERIRA logE = 11.8 + 1.5r - BXIRE
88 FEEAME (N —XKHE) RKRERR 73 EEMERERNFRS 8.3 (UE - RIEMENLM08E
SENAEEAMEN 2. (BAVI0 ~3.16 - SEMOBRNEERBIEESMT )




PONEEDE]  SOFRiREE

7. BAES Y =x00 1§ 3% I IENBTUNRBRIERTR b x 10" Hp1<b <10 B n BIERH
g (bon)=__ - (HRERHEHK)

M-stEE (BE 7D H149)
1. RxARBEH BHREN2x+2|+|x+1|+x=7-

—EORER 8 AR > SHERINE TSI RBMGERIRR - EXN x ARRKRVEE - F—IROBESR
500x? 7T - XENETHEERAEZE)—E 2000 7T -

(D) BRI n F2 - KGEERYVEIF 2RI f() - (32)
@OXn=___  {#fm BOERI] @ WKESIMER




HONB¥ 133

b8yt

2.

(DH(2)4)

)4

7.

(3.73,488)

2.(1)

2.2)

16
2000(—+n—1)

n=4
min = 14000




